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1. Determine the structure stiffness, K, for the following truss using the stiffness method.
EA = 6x10*%kN for each member. (15%)

,e 1.6m e L — 24 m —_—

‘2. Using the slope-deflection method to determine the moment at 4 and B and draw the moment
diagram for the following beam. The support at B settles 100 mm. Take 7 = 4x10%mm® and £ =
250 GPa. (15%)

20 kN/m
B [T €

5m S ;3m -_>|

3. Determine and draw the following influence lines for the given truss: (a) reaction G,; (b)
reaction Gy; (c) force in bar DE; (d) force in bar HF. (20%)
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4. - Draw the shear and moment diagrams. (15%)

3. Giving the deflection equation as follow: (15%)

_”:-' R ) v=_ Pbx (Lz_bz_x2)
v 6LET
“‘”",‘—:’ 0<x<a

Find the displacement at the loading point of the beam structure as shown. £/ is
constant.

6. Analyze the member end moments by moment distribution method. And find
the reactions at the supports. (20%)
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